

7 $f(x) \cdot f'(x) = e^{2x} \Leftrightarrow$

$$2f(x) \cdot f'(x) = 2 \cdot e^{2x} \quad \Leftrightarrow$$

$$(f^2(x))' = (e^{2x})' \quad (2)$$

$$f^2(x) = e^{2x} + c, \quad x \in \mathbb{R}$$

for $x=0 \Rightarrow f'(0) = e^0 + C = 1$

$$\Rightarrow 1 = 1 + C \Rightarrow C = 0$$

$$\hookrightarrow f^2(x) = e^{2x} \Rightarrow \sqrt{f^2(x)} = \sqrt{e^{2x}}$$

$$|f(x)| = e^x \quad (1)$$

Airw nur $\{x \mid f(x) = 0\}$ (→)

$$|f(x)| = 0 \quad \left(\frac{11}{-}\right) \quad e^x > 0 \quad \text{divergent}$$

$|f(x)| = 0 \Leftrightarrow x = 0$
 Apă $f(x) \neq 0 \quad \forall x \in \mathbb{R}$
 f este G_{inv} $\mathbb{R}$

Ani G_{inv} $\mathbb{R}$ Bel Zano
 $\Rightarrow f(x)$ este $\neq 0$ $\forall x \in \mathbb{R}$

f Gms Gms R

Ani 6x6x10 Bal Zamb

$\Rightarrow f(x)$ διαφέρει πολύ
από f .

Aus $f(0) = 170 \Rightarrow f(x) > 0$
Graph

$$\boxed{8} \quad f'(x) + x \cdot f(x) = x \quad (1)$$

$$f'(x) \cdot e^{\frac{x^2}{2}} + \frac{x \cdot e^{\frac{x^2}{2}} \cdot f(x)}{(e^{\frac{x^2}{2}})'} = x \cdot e^{\frac{x^2}{2}}$$

$$\underbrace{\left(f(x) \cdot e^{x/2} \right)'}_{2'} = \left(e^{x/2} \right)'$$

$$r f(x) \cdot e^{x/2} = e^{x/2} + C$$

für $x=0$ $f(0) \cdot e^0 = e^0 + C \Leftrightarrow$

$$2 = 1 + C \Rightarrow C = 1$$

$$\hookrightarrow f(x) \cdot e^{x^2/2} = e^{x^2/2} + 1$$

$$f(x) = 1 + e^{-x^2/2} \quad \forall x \in \mathbb{R}$$

9

$$f'(x) \cdot f(x) - x \cdot f^2(x) = x \quad (\Rightarrow)$$

$$(f^2(x))' = 2f(x) \cdot f'(x)$$

$$2f'(x) \cdot f(x) - 2x \cdot f^2(x) = 2x \quad (\Leftarrow)$$

$$(f^2(x))' - 2x \cdot f^2(x) = 2x \quad (\Leftarrow)$$

$$(e^{-x^2})' = -2x \cdot e^{-x^2}$$

$$(f^2(x))' \cdot e^{-x^2} - \underbrace{2x \cdot e^{-x^2}}_{(e^{-x^2})'} \cdot f^2(x) = - (2x \cdot e^{-x^2}) \quad (\Leftarrow)$$

$$(f^2(x) \cdot e^{-x^2})' = (-e^{-x^2})' \quad (\Rightarrow) \quad f^2(x) \cdot e^{-x^2} = -e^{-x^2} + C \quad (1)$$

ma $x=0 \rightarrow f^2(0) \cdot e^0 = -e^0 + C \quad (\Leftarrow) \quad (e-1) \cdot 1 = -1 + C \quad (\Leftarrow) \quad C=e$

$$f^2(x) \cdot e^{-x^2} = -e^{-x^2} + e \quad (\Leftarrow) \quad f^2(x) = -1 + e^{x^2+1} \quad (2)$$

$\exists \xi \in]0, x[$ w.d. $e^{x^2+1} - 1 \geq 0 \quad (\Rightarrow) \quad e^{x^2+1} \geq 1 \quad (\Rightarrow) \quad x^2+1 \geq 0 \quad \forall x \in \mathbb{R}$

(2) $\Rightarrow |f(x)| = \sqrt{e^{x^2+1} - 1}$. Livw mw $\exists \xi \in]0, x[$ w.d. $f(x) = 0 \quad (\Leftarrow) \quad |f(x)| = 0 \quad (\Leftarrow) \quad \sqrt{e^{x^2+1} - 1} = 0 \quad (\Leftarrow) \quad e^{x^2+1} = 1 \quad (\Leftarrow) \quad x^2+1 = 0$ d'sivw 20.

Apra $f(x) \neq 0 \quad \forall x \in \mathbb{R}$ $\left\{ \begin{array}{l} \Rightarrow \text{d'no ex'2a Bolzano diampsi n'pobto, } f(0) > 0 \Rightarrow \\ f(x) > 0 \quad \forall x \in \mathbb{R} \Rightarrow f(x) = \sqrt{e^{x^2+1} - 1}, x \in \mathbb{R}. \end{array} \right.$

$$\boxed{10} \quad f'(x) = \frac{x-1}{x} \cdot f(x) \Leftrightarrow$$

$$f'(x) - \frac{x-1}{x} \cdot f(x) = 0 \quad \Leftrightarrow$$

$$f'(x) - \left(\frac{x}{x} - \frac{1}{x} \right) \cdot f(x) = 0 \quad \Leftrightarrow$$

$$f'(x) - \left(1 - \frac{1}{x} \right) \cdot f(x) = 0 \quad \Leftrightarrow$$

$$f'(x) + \left(\frac{1}{x} - 1 \right) \cdot f(x) = 0 \quad \Leftrightarrow$$

$$f'(x) \cdot e^{\ln x - x} + \underbrace{e^{\ln x - x} \left(\frac{1}{x} - 1 \right)}_{(e^{\ln x - x})'} \cdot f(x) = 0 \quad \Leftrightarrow$$

$$\left(f(x) \cdot e^{\ln x - x} \right)' = 0 \quad \Leftrightarrow \quad f(x) \cdot e^{\ln x - x} = c \quad \Leftrightarrow \quad f(1) \cdot e^{0-1} = c \quad \Leftrightarrow$$

$$2 \cdot e^{-1} = c \quad \Leftrightarrow \quad \boxed{c = \frac{2}{e}}$$

$$f(x) \cdot e^{\ln x - x} = \frac{2}{e} \quad \Leftrightarrow \quad \boxed{f(x) = \frac{2}{e} \cdot e^{x - \ln x}}$$